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4,200 4,400 200 - 3| ofH| 3,945 3,945 -
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(A) (B) olf 4= 5= (%) (A) (B) OH =~ HI (%)
olgz olg= HAzolgd 26,680 22,445 4,235 - Aldd| 2| . | 96,222 90,475 5,747 | - 6.0
MAzo|leZ
= ol = 1,819 1,819 - - A A H| 2| 96,222 90,475 5,747 | - 6.0
(Z==3)
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st Al 798,831 687,731 | -111,100 | - 13.9
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z g = off &t 1X 54 of A A &= U o (che o o#)
(A) (B) oK =~ HIE (%)
st Al 798,831 687,731 | -111,100 | - 13.9
ALFH| ol 4| A~ A 567,664 470,197 | - 97,468 | - 17.2
=0 400,423 359,285 | - 41,139 | - 10.3 7122 2Izb o 18| 359,284,511
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Nl R = = 54,950 39,787 | - 15,164 | - 27.6 |HZEE = Z3204%3.545% 14,219,217
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12EE E204+1.8% 7,014,122
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29 | 85,741 84,738 |- 1,003 | - 1.2
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+g4| o = 5
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T T
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Meted 40,0008 x127 & 480,000
MIF 3,500,000 =127} 2 42,000,000
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Z A AL S X[ E 2l 5 400,000% 11
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LETHH| 600,0002d 13 600,000
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